Y9 Srclt @13/ RAILWAY RECRUITMENT BOARDS
& o otRotg - T & ot b - CEN01/2019- NTPC

AR

[Participant ID

Participant Name

Test Center Name iON Digital Zone iDZ 1 Sector 62
Test Date 04/02/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 smgaw 2018 &, sy dfaet o framat & o fader St § 7= #3335 ATHE I
(gel) B=faa fram

X 1. TS 3=EEs (Zine-Oxide)
X 2 gEgiFATde Weetst (Hydroxyethyl Cellulose)

v o grel-3F=ER (Poly-Oxime)
X+ WfEgA grawdee (Sodium Polyacrylate)

Ans

Question ID : 9489116332
Option 11D : 94891125326
Option 2 ID : 94891125327
Option 3 ID : 94891125325
Option 4 ID : 94891125328
Status : Not Answered
Chosen Option : --




92w T F BT 289 cm? ¥ TEF RFOT r vEE AT ST

Ans

v 1 1742 cm
X2 13v2cem
/<3 192 cm
< 4 15v2cm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489118666
94891134663
94891134661
94891134664
94891134662
Answered

1

03 O e F T fEA (?) F T W HT O TE e

Ans

4 5

5 4

6 |4

Al =R

14 | 16

X124
V219
X314
X418

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116102
94891124406
94891124407
94891124408
94891124405
Answered

2




¥ PrRE & & 5 e WE # 6o & Hel A At @ 27
Are XK. SETETS

X 2 eREwEer
(3.3—1‘@??13%
X 4 FTORISEr

Question ID : 9489116314
Option 11D : 94891125253
Option 2 ID : 94891125254
Option 3 ID : 94891125255
Option 4 1D : 94891125256
Status : Answered
Chosen Option : 4
Q.5 .
T | (EU) @ e ofFa 3R s e a2 g2
Ans :
X1 @r TdiETR w7 P
K 2 TG A" Hr aiwg
X3 YT §Eg
v o TIET AR
Question ID : 9489116335
Option 11D : 94891125338
Option 2 ID : 94891125340
Option 3 1D : 94891125339
Option 4 1D : 94891125337
Status : Answered
Chosen Option : 2
Q.6 us AT 11 h & U T G FAT E| qF A F TG T S F 25 kvh F A ¥ T @ A
HET & 30 km/h BT T | ATH ST g1 A B TA G0 TG BT
Ans X1 250 km
v 2 300 km
/< 3 285 km
< 4 265 km
Question ID : 9489118661
Option 1 ID : 94891134641
Option 2 ID : 94891134644
Option 31D : 94891134643
Option 4 ID : 94891134642
Status : Answered
Chosen Option: 2




Y Fegfier % deet &, wH TS F 2
K dgamEet #r Ee ¥ v oiedus

X2 g g
X 3

TS g T TS FANE FOYET TN H Hel o9 §

v ¢ UF WrETHE, ST J9ErEel & T SuK e ¥

Question ID : 9489116338
Option 11D : 94891125350
Option 2 ID : 94891125351
Option 3 1D : 94891125349
Option 4 1D : 94891125352
Status : Not Answered
Chosen Option : --
Q.8 =7 37 3@ T WH F, T BT T FET F I F I F TOleaH =T § AT w4 ¥
TaAdl, AT, Fed
©o @
& b [4 d
Ans x 1. 3
v2 b
X3¢
<4 d
Question ID : 9489116097
Option 11D : 94891124385
Option 2 ID : 94891124386
Option 31D : 94891124387
Option 4 1D : 94891124388
Status : Answered
Chosen Option: 2




¥ GSAT-6A # #¥ 3R Tl & vaiig fFar mar o
r
12 S8, 2018, T ua= 3aneT &g (Sef=e)

Ans

V2 29 A 2018, TANT UaT IIRET Fg (Hefee)

X 3 6 HFEET 2016, T T FeX (FRY)
X 4 29 T 2017, TAET TE eI (FR

Question ID : 9489116331
Option 1 ID : 94891125323
Option 2 ID : 94891125322
Option 3 ID : 94891125324
Option 4 ID : 94891125321
Status : Not Answered
Chosen Option : --
Q.10 Iy 4 37t H U I TEAT F 6 bl HT TIY ST WEAT F UIIT AT &, A A9l o gem?
Ans o1 90001
/< 2 99991
#< 3. 80001
< 4. 90000
Question ID : 9489118644
Option 1 ID : 94891134575
Option 2 ID : 94891134576
Option 3 ID : 94891134573
Option 4 ID : 94891134574
Status : Answered
Chosen Option : 1
QN gfee 9x el & & &9 B @E T9a § AR v weea ) e 1 Taa SifEw
Ans X 1. quTT
K 2 9T
« 3. ES'_."-
4.
K4 HES
Question ID : 9489116095
Option 11D : 94891124379
Option 2 ID : 94891124378
Option 3 ID : 94891124380
Option 4 1D : 94891124377
Status : Answered
Chosen Option : 3




Question ID : 9489116324
Option 11D : 94891125293
Option 2 ID : 94891125295
Option 3 ID : 94891125296
Option 4 ID : 94891125294
Status : Answered
Chosen Option: 3
Q.13 12 m == 3T 8 m =12 T FAY F B F HUFaH TART STFA TS FER BEAT F FADT AT
¥ TS TSN BEAr T e A Sfaw]
ms X1 4
K25
<38
v 4B
Question ID : 9489118667
Option 1 ID : 94891134665
Option 2 ID : 94891134666
Option 31D : 94891134668
Option 4 ID : 94891134667
Status : Answered
Chosen Option : 4
Q14 org Rfrer gursSr & fFew e (Cripps Mission) & 9RE ST 12
Ans =)
X 1. Tfa¢ arerarer (Robert Walpole)
X 2 g AT Baer (Benjamin Disraeli)
X s grERe ¥=T (Margaret Thatcher)
v o fares afEer (Winston Churchill)
Question D : 9489116328
Option 11D : 94891125309
Option 2 ID : 94891125311
Option 31D : 94891125312
Option 4 ID : 94891125310
Status : Answered

Chosen Option : 4




Q1S rfafes # & frw T=7 & ¥o Ted e TsTi/dmanfaa vl ¥ 33 g

e K oedraee
v 2 3R W
X 3 ST
X4 meg g
Question ID : 9489116322
Option 11D : 94891125288
Option 2 ID : 94891125286
Option 3 ID : 94891125287
Option 4 ID : 94891125285
Status : Answered
Chosen Option : 2
Q.16 =
e o7 'Toor T I8 ey &, S emw o= T gl
Ans « 1. \ﬂ a
X 2 gE
X3 Eew
<4 R
Question ID : 9489116076
Option 1 ID : 94891124301
Option 2 ID : 94891124304
Option 3 ID : 94891124302
Option 4 ID : 94891124303
Status : Answered
Chosen Option : 3
Q17 Prfafia wsgadr aandt # ¥ #F 7ud gEER 97 FE F grhs i gues a7
Ans .
<1 sfET s
-
X 2 BErTes grAeY TaTad
X 5. fasurerElr e
v ¢ grer TR e
Question ID : 9489116318
Option 11D : 94891125270
Option 2 ID : 94891125272
Option 3 ID : 94891125269
Option 4 ID : 94891125271
Status : Answered
Chosen Option : 4




Q18 37 & F Wy 9T HE W A & v FERfRT § @ e feE aidse F e 6

Ans  of 1. Alt + Shift + Tab
< 2 Alt + Tab
< 3 Ctrl + N
# 4 Ctrl + Home

Question ID : 9489116336
Option 11D : 94891125344
Option 2 ID : 94891125341
Option 31D : 94891125343
Option 4 ID : 94891125342
Status : Answered
Chosen Option : 2
Q19 s sfgw & =@ 88 cm ¥ 3TF @RT 8712 m & gff AT A F v v goEr FHr T A=
Ffael (n =2 )
ans of 1. 3150
< 2 3350
< 3 3250
< 4 3450
Question ID : 9489118673
Option 11D : 94891134692
Option 2 ID : 94891134690
Option 3 ID : 94891134691
Option 4 ID : 94891134689
Status : Answered
Chosen Option : 1
Q.20 . :
STH H G AT FT FROT FAT gl
Ans .
X1 oA F g g A
X 2 $ret s St F gfy
v 5 g Fr HEEr F g
X4 ger F
Question ID : 9489116316
Option 11D : 94891125262
Option 2 ID : 94891125264
Option 3 1D : 94891125261
Option 4 1D : 94891125263
Status : Answered
Chosen Option : 4




Q21 saARC (&TaroT oS sl FEET Fed) 1 Tew F AR FEl g ur

Ans

&1 grfereara, 1981
X 2. sfrereRr, 1988
X 3. #TT, 1987

v ¢ sEeTeer, 1985

Question ID : 9489116333
Option 11D : 94891125330
Option 2 ID : 94891125332
Option 3 ID : 94891125329
Option 4 ID : 94891125331
Status : Answered
Chosen Option : 4
Q.22
AR AH FHIE A= FE aw o &7 718 o
Ans  of 11999
< 2 1998
< 32001
< 4 2016
Question ID : 9489116341
Option 11D : 94891125364
Option 2 ID : 94891125361
Option 31D : 94891125363
Option 4 ID : 94891125362
Status : Not Answered
Chosen Option : --
Q.23 gfy 1 & 26 % $r v FEEmat, S 2 ¥ Resw § 7 aEd FH A cwafiyg for A, & s @
FET AR @ 9F FuE W g
Ans X114
X2 20
V3 18
<416
Question ID : 9489118646
Option 11D : 94891134581
Option 2 ID : 94891134584
Option 3 1D : 94891134583
Option 4 ID : 94891134582
Status : Answered
Chosen Option: 3




Q24 fofer woie NEIE 2020 & 3R, 3 Swdsha sy # @eitos e au )
s e R

X 2 oftm

X5 T

K4 el aARE

Question ID : 9489116304
Option 11D : 94891125215
Option 2 ID : 94891125216
Option 31D : 94891125213
Option 4 1D : 94891125214
Status : Not Answered
Chosen Option : --
Q.25 3
HIUT 54° 7 AT (T A) F e BT 2
Ans 37
v
10
O
y A
10
7T
y R
10
i
Ko —
10
Question ID : 9489118668
Option 11D : 94891134670
Option 2 ID : 94891134672
Option 3 1D : 94891134671
Option 4 1D : 94891134669
Status : Answered
Chosen Option : 1




Q.26 T & T FSH T IRET & §O Fe, "9g BY 8¢ & Rar 7 88 Fr der §1" 39 d5F o OA F =T

T i

e o FE ET e
X 2 TS FT FET
X3 FeT
X 4 TS

Question ID : 9489116077
Option 11D : 94891124306
Option 2 ID : 94891124308
Option 3 1D : 94891124305
Option 4 1D : 94891124307
Status : Answered
Chosen Option : 1

¥ ST W e AH AT F YE H TS A7
e X1 9 \iE 2015
v 11 3@t 2014

K 2 28 30TEd 2014
# 4 23 e 2010

Question ID : 9489116342
Option 11D : 94891125367
Option 2 ID : 94891125368
Option 31D : 94891125366
Option 4 1D : 94891125365
Status : Answered
Chosen Option: 1




V2 G e F wed FEe (7) F TE W ST o TEIT HTE?

48 24 8
55 (20 | 11
63 | ? 9
ae X118
<220
v 28
X 4 24
Question ID : 9489116103
Option 1 1D : 94891124409
Option 2 ID : 94891124410
Option 3 ID : 94891124412
Option 4 ID : 94891124411
Status : Not Answered
Chosen Option : --
29 # TETATET
feaTem & odtememr FT T T 2
e o o fReme
X 2 Zrg AT
< 3 Rarfees
X 4 mem TEAETET
Question ID : 9489116323
Option 11D : 94891125291
Option 2 ID : 94891125289
Option 3 ID : 94891125290
Option 4 ID : 94891125292
Status : Answered
Chosen Option : 4




Q.30 T FHfASIg FHFIOT Py T a1 81 am® §1 $H FUT F SR AT A

Ans X116 cm
v 218 cm
<322 cm
<414 cm
Question ID : 9489118665
Option 11D : 94891134658
Option 2 ID : 94891134659
Option 31D : 94891134660
Option 4 ID : 94891134657
Status : Answered
Chosen Option: 2
Q.31 , {7 HA7VW (Ramon Magsaysay) TEFR ¥ FFAAd g aral § ¥ TF &l
Ans « :
I 3RTEE FeETer
<2 HTAANR T
X 3 FeT S
X 4 FHST ANA
Question ID : 9489116308
Option 11D : 94891125231
Option 2 1D : 94891125229
Option 31D : 94891125232
Option 4 1D : 94891125230
Status : Answered
Chosen Option : 3
Q.32 ST 2017 &, A T Tgel WIT FA T g & F Yo T ¥ YF Frar o am
Ans :
1.
K. SR
2.
X2 783
X 3 qor
3
v o e
Question ID : 9489116305
Option 11D : 94891125220
Option 2 ID : 94891125219
Option 31D : 94891125218
Option 4 ID : 94891125217
Status : Answered
Chosen Option: 1




0B o ¥ Bl sE & e dent F S F w9 & e e 2

Ans

X 1. AgreAT Ml (Mahatma Gandhi)

X 2. 7ige Fosa (Robert Clive)

X s anye gfEETH (Warren Hastings)

v 4 Tel Fadierd (Charles Cornwallis)

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

1 9489116317
Option 11D :

94891125268

1 94891125266
1 94891125265
1 94891125267

Status : Answered
Chosen Option : 4

Q.34 g ufit & e 3 0 5 ¥ g gekw A F F 9 vEnw o §, & e 50 9 @ S §) o

T AT RFAT
Ans  of 1. 54
<2 52
/<3 53
< 4 51
Question ID : 9489118655
Option 11D : 94891134620
Option 2 ID : 94891134618
Option 31D : 94891134619
Option 4 ID : 94891134617
Status : Answered
Chosen Option : 1
Q.35 e wedr ¥ 3w = wet # 35% #r gy g ¥ sk swd wf de meed & 25% Fr w A ¥
IHF T AT A B 9 uited gy Aa e
Ans X113
<2135
X312
v 4125
Question ID : 9489118657
Option 1 1D : 94891134627
Option 2 ID : 94891134628
Option 3 ID : 94891134625
Option 4 ID : 94891134626
Status : Answered
Chosen Option : 4




Q.36 =7 ez Ry oiv ¥, BEE ¥ O B TN @ U TAF §, 9 UF HOOA 3| HOOF WMeg oA

il
= B, Y7 (RAM), #1350, AeTas

e X Y\ (RAM)
v 2 AEE
# 3 ASTES
X4 gt B

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

9489116093

: 94891124372
1 94891124371
1 94891124369
: 94891124370
. Answered

Chosen Option :

2

Y afafaa § ¥ FiF gl BT = TR 5 G 27

e XK. dreasT F =l 49 ¥ weww
X 2 HE T HSET =T AN ALY &

vigge ¥ Fa o mea F AN
X 4 ArRTsT H AN

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116329
94891125316
94891125313
94891125315
94891125314
Answered

3




Q.38 o qwEw - A, B, C, D T E, i Aigemst - P, Q R, S A1 T & Ry & (s a8 W s w0 &
&)1 & qEst # O R G, S - e, g, Fen, drew 9o e, f oot # & vw ode § (e
& B T FA F @) v I dew v Afgen & Reea & # Faw o o Twg W §1 @ o A
T @A Figer § Rafys a@@t § o wee ot 9w5g 7@ wwa §) C, P & Raifgw ¥ g wer o A
oE THE FE FAT F| D IO o W FI ¥ R, E ¥ Rl ¥ E B gy 3w w1 ook wwg

AR T H Wy, dfd g QW T REfRa a8 31 B, T Rafka a8 &
TET, ARG T 9 F T A sAA T FA T T T E?

Ans o 1.B - Q - T
X2D-Q- W
X3 E-R-dmer
Xa4C-P-d=n
Question ID : 9489116101
Option 11D : 94891124403
Option 2 ID : 94891124401
Option 3 1D : 94891124402
Option 4 1D : 94891124404
Status : Not Answered
Chosen Option : --
Q39 ymE ¥ Teguly a9 ¥ TR 3H ¥ R o9RG o7 [EER T TEANAS R mr ar?
e K ey S e
v o TH ST
X3 dy AR
X o QU FHEA
Question ID : 9489116327
Option 11D : 94891125308
Option 2 ID : 94891125305
Option 31D : 94891125306
Option 4 ID : 94891125307
Status : Answered
Chosen Option : 2
Q.40 3 Ewmsit # Ferher 80 ¥ AN 3T AW 8 ¥ Tgel wewr AN @l §E w1 A A Hiew
ans X113 : 11
K212 0 11
v3i11:9
<413:9
Question ID : 9489118656
Option 11D : 94891134624
Option 2 ID : 94891134622
Option 3 ID : 94891134621
Option 4 ID : 94891134623
Status : Answered
Chosen Option : 3




Y ot o F TR # ¥ 9 O ofe genfe JE o S £

e X0 el aw
K 2 defEi FR
X 3 g3 aH f@Ee
v fgamE &)
Question ID : 9489116315
Option 11D : 94891125260
Option 2 ID : 94891125258
Option 3 ID : 94891125257
Option 4 ID : 94891125259
Status : Not Answered
Chosen Option : --
Q.42 . .
_ oRE W HEd W AR HE WS ¢
Ans

X 1. ETASTET (INTUC)
X 2 dreaTy (BMS)

v 5 THEETEr (AITUC)
X 4 WL (CITU)

Question ID : 9489116343
Option 11D : 94891125371
Option 2 ID : 94891125370
Option 3 ID : 94891125372
Option 4 ID : 94891125369
Status : Answered
Chosen Option : 3




Q43 37 37 ¥IE F T F, BT AT 9t & $ F g6y Fr gHaw o ¥ Owhg w1

clefelo

Ans x 1. b
voc
X3 a
<4 d
Question ID : 9489116098
Option 11D : 94891124390
Option 2 ID : 94891124391
Option 3 ID : 94891124389
Option 4 1D : 94891124392
Status : Answered
Chosen Option : 2
Q.44 v i AeEy 25,850 # g Afves R F e Aegd W owmn aer §, ot 3o o aemitm
T F FNOT 3§ A 35,200 H HIAW BT | 3EET Aiiean Faa Sfeie Awelr Rt o2
Ans 1. 3750
< 2. 3700
< 3 7600
v 4 3650
Question ID : 9489118652
Option 11D : 94891134608
Option 2 ID : 94891134607
Option 3 1D : 94891134605
Option 4 1D : 94891134606
Status : Not Answered
Chosen Option : --
Q.45 *
AR TS & Tgel TAT Hhid A7
Ans « 1. % ? *
X 2 ST JEE
K 3 FNT 3EsT
K o TR
Question ID : 9489116321
Option 11D : 94891125283
Option 2 ID : 94891125282
Option 31D : 94891125284
Option 4 ID : 94891125281
Status : Answered

Chosen Option :

1




Q.46 rver el 3 ol F &1 A 1o o T & 3T & 91 330 ml 19T @ o ¥ 6 aut & a7 e

T T ST R
ans X1.1.30 L
<2134 L
<3136 L
v+132L
Question ID : 9489118653
Option 11D : 94891134609
Option 21D : 94891134611
Option 31D : 94891134612
Option 4 1D : 94891134610
Status : Answered
Chosen Option : 4
Q47 1 7 5 a4 g [4
=, =, =, —, — Al olEcdH HHATIS LCM
3' &' o' 27" 15 Jl'd o [ { ) %I
Ans ) 2 80
v 2o
3
3
X2 >
280
280
r R i
15
15
A
280
Question ID : 9489118649
Option 11D : 94891134593
Option 2 ID : 94891134594
Option 3 1D : 94891134595
Option 4 1D : 94891134596
Status : Answered

Chosen Option :

1




Q.48

0.532 e & TR 2l
Ans 19
W
a9
27
222t
990
72
X325
990
537
8 i
990
Question ID : 9489118648
Option 11D : 94891134592
Option 2 ID : 94891134590
Option 31D : 94891134589
Option 4 ID : 94891134591
Status : Answered
Chosen Option : 2
Q49 Which of the following was discovered by Henri Becquerel?
Ans 1. Ultraviolet light
/< 2 Infrared radiation
/< 3. X-Rays
« 4 Radioactivity
Question ID : 9489116330
Option 11D : 94891125317
Option 2 ID : 94891125318
Option 31D : 94891125319
Option 4 ID : 94891125320
Status : Answered
Chosen Option : 4




Q.50 =y (Cupcake), =€ (Donut), T (Eclair), Wi (Froyo) 3T fSsHss (Gingerbread) faffe=

Ans

WERUT % BT Fewe AR §

K1 FE
X2 Ca
Vs UsiaE
X 4 RramEr
Question ID : 9489116337
Option 11D : 94891125347
Option 2 ID : 94891125346
Option 3 ID : 94891125345
Option 4 ID : 94891125348
Status : Answered
Chosen Option : 3
Q.51 +
_ FTEEnr o 78T 2
Ans

X 1. #FeT (Monkeycup)
~ 2 Pﬂ (Sundew)

X s @iehtp (Corkscrew)
o+ zrger ot (Tiger Lily)

Question ID : 9489116313
Option 11D : 94891125249
Option 2 ID : 94891125252
Option 31D : 94891125250
Option 4 ID : 94891125251
Status : Answered
Chosen Option : 2




Q.52 40 wwgait @ Rrr Frw 35 TEgel ¥ FT FT F IR T I v @i wRew wa HfFw)

Ans

1

v lzi%gri?r
1

X2 135%31?#
1

X 3. 125%3@

1
< 4 135%3@

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489118659
94891134634
94891134636
94891134633
94891134635
Answered

1

@5 By (BRICS) # enfarer gh arem 3ifae Zor i @ am

Ans X 1. AR
<2 ®H
X3 A=
v 4 ETEoT 3hreRT
Question ID : 9489116334
Option 11D : 94891125336
Option 2 ID : 94891125333
Option 3 1D : 94891125335
Option 4 1D : 94891125334
Status : Answered
Chosen Option : 4
Q.54 % Ho 7 280 m F g 9T vk el # g@n Reer giF & 10 kmih B @ & s § R Fear
#ﬁmﬁ%ﬁvzd, km/h ﬁmﬂa@#tﬁﬁ'm%l ﬁ#ﬁ—cﬂqﬁ#ﬁﬁmmm
EET?
Ans - X1 1.4 min
/< 2 1.5 min
< 3 1.3 min
v 4 1.2 min
Question ID : 9489118663
Option 1 ID : 94891134651
Option 2 ID : 94891134652
Option 3 ID : 94891134650
Option 4 1D : 94891134649
Status : Answered
Chosen Option : 4




% S g e @ TRAT & FiT W & wEw FA T @ 3
Ans BT

< 2 FerSr

3 e

o 4 FTeT

Question ID : 9489116311
Option 11D : 94891125242
Option 2 ID : 94891125243
Option 3 ID : 94891125241
Option 4 ID : 94891125244
Status : Answered
Chosen Option : 4

Q.56 faw v Fue it frewet @ cEgEE w1 Fue # & 7 A H AT Aad ge AR w6 f
TF AT A Aed ¥ e gde g6 @ e gad & R v Tewst & & siF @ wuw w7 ale
T Y I T 82

HUA:

e FE Heeld HA T oI IS 39T Fe §)

e

|. T & BT w3 feAa =T T

II. HFET 3 A & T Ageaur g, o FE AgAd AE w8

e XL g ar e | 3k T & e 1| 9re #=ar g
X2 sy | ST 1| EEt g w1 #
X 3. Faer fAswy || I FLaT B
v ¢ Faer frsey | qrere T 2

Question ID : 9489116081
Option 11D : 94891124324
Option 2 ID : 94891124323
Option 31D : 94891124322
Option 4 ID : 94891124321
Status : Answered
Chosen Option : 4




Ans

ST 32

v 1 ©H (Chaam)

X 2. ggafa (Padayani)

X 3 g&forar ©F (Purulia Chhau)
X 4 @M ATHEAT (Mukha Bhaona)

Q.57 RfFFF & W@ P 56% 3 7@ gea & BT e Jw 3 fEEE F qem F 5w w7 A o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116309

94891125233
94891125235
94891125234
94891125236
Not Answered

Ans

v e

X 2 3TeAT

X 3. 35T

< 4 glgar

Q.58 37 fawew &1 o HIfSw, S AT Ug ¥ 3T YRR TERA €, O TR g ug 9w ug ¥ Hefod
gl

AT © FEA o AT 0 P

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116079
94891124314
94891124316
94891124313
94891124315
Answered

1

Ans

X1 $d¥s

Q59 waaler & fg7ersr Femdr FET FF (Johan Cruyfl) 3= & frw Zer & wafoa &2
v e
X 2 grefer
X o skl

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116307
94891125226
94891125227
94891125228
94891125225
Answered

3




Q60 o wpex =me 50 kmvh &7 ST § T T T@T 81 € 25 h F frael gff aw wem?

ans K1.130 km
v 2 125 km
#3120 km
&< 4 135 km
Question ID : 9489118662
Option 11D : 94891134647
Option 2 ID : 94891134646
Option 3 1D : 94891134645
Option 4 1D : 94891134648
Status : Answered
Chosen Option : 2
Q.61 =fy gy wewmat #1 I 84 § 3T 3% Faeaw @AMENE (HCF) 3 aead ®aa=d (LCM) e 3
3R 124 §, & S St F oAt @ O e gem?
Ans 9
y
31
y &
v _—
31
11
» 3.0
31
8
<4 —
31
Question ID : 9489118650
Option 11D : 94891134599
Option 2 ID : 94891134597
Option 3 1D : 94891134600
Option 4 1D : 94891134598
Status : Answered
Chosen Option : 2




¥ 12 em s T TF THEE BRI F AEee A9 S

Ans
< 13243 em?
v 2 3643 cm?
< 3 3043 cm?
< 4 3443 cm?
Question ID : 9489118664
Option 11D : 94891134654
Option 2 ID : 94891134656
Option 31D : 94891134653
Option 4 1D : 94891134655
Status : Answered
Chosen Option : 2
Q.63 2
Fied W TET THAET fewelr IR Fag &1 Sgar 22
Ans o TeTE 1 (NH1)
X 2 waATE 12 (NH12)
v 5 TATT 8 (NH8)
X 2 TaTg 10 (NH10)
Question ID : 9489116340
Option 11D : 94891125360
Option 2 ID : 94891125358
Option 31D : 94891125359
Option 4 ID : 94891125357
Status : Not Answered
Chosen Option : --
Q.64 zfr + F7 3f geE ¥, o F o3 wwT ¥, ¢ F o qow ¥ k- oot ohy &, o PewleRe &
T T o1 e TEr
Ans X 1.8+4+2-6x2=5
X28+4+2-6x2=14
K32 =4=F 22+ 53 =4
142 g2+ § =
Question ID : 9489116088
Option 11D : 94891124350
Option 2 ID : 94891124352
Option 31D : 94891124349
Option 4 ID : 94891124351
Status : Answered
Chosen Option : 4




¥ 1 & 12 g% $r eIt F et F AT Faww Bar 2

Ans

~< 1. 660
V2 650
X 3. 665
X 4 655

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489118645
94891134578
94891134580
94891134577
94891134579
Answered

1

Q66 v mgar #, FAHOT F AT AFHOT & AT F AT T s A Fww @ A

Ans x 1. g
<27
<36
V8
Question ID : 9489118669
Option 11D : 94891134676
Option 2 ID : 94891134674
Option 31D : 94891134673
Option 4 ID : 94891134675
Status : Not Answered
Chosen Option : --
Q.67 cos15° — sin 75°
f=taf@a g =1 A g fifsw: cos15° + sin75°
Ans X 1. oo
< 2 2 cos 15°
V30
<4

Question ID :
Option 11D :
Option2 1D :
Option31D:
Option 41D :
Status :

Chosen Option :

9489118670
94891134679
94891134680
94891134677
94891134678
Answered

3




Q.68 g wwmmst 1 Fgeaw FHETE (HCF) 19 § 3R 30 ageas @AMacyd (LCM) % & 3770 Toas 11
A 13 {1 ST demat § @ 9 g s w32

ans K1 249
< 2 243
V'3 247
X 4 241
Question ID : 9489118651
Option 11D : 94891134604
Option 2 1D : 94891134602
Option 31D : 94891134603
Option 41D : 94891134601
Status : Answered
Chosen Option : 3
Q.69 ufa-smnf| F25 (w0 7 o) 2w woews &, 5 s Bt S i & R s
3951 A U F d9F F A HAT B
Ans X 1. wHer (Fasal)
X 2 @oT (Kiran)
X 3. Ther (Safal)
v 4 #7Er €38 (Mandi Trades)
Question ID : 9489116339
Option 11D : 94891125354
Option 2 ID : 94891125353
Option 3 1D : 94891125356
Option 4 ID : 94891125355
Status : Not Answered
Chosen Option : --
Q.70 ¢
F=RET F ¥ Fi9 a@r 90T FAT # TF & 272
e X Rufae Fel
2.
X 2 fega z=r
X 3 gaatEs Far
v 4 g@ir Far
Question ID : 9489116312
Option 11D : 94891125246
Option 2 ID : 94891125247
Option 31D : 94891125248
Option 4 ID : 94891125245
Status : Answered
Chosen Option : 4




Q71 5= 3iv F shogw iR Tega & o= § ww iR e A s sREm # s §) i o
Feed e AR Trgpd # =0 €1 ww, e iR dga o i war # 3T §) I Iee &

X 9T BT 71T 99T F 3o &

s ¥ Fia zfEm, Bee 3R gopa & o @2

Ans ) s
1.
v Fe
X 2 Jga
< 3 =iarer
X 4 9TTH
Question ID : 9489116099
Option 11D : 94891124394
Option 2 ID : 94891124395
Option 31D : 94891124396
Option 4 1D : 94891124393
Status : Answered
Chosen Option : 1
Q.72 v g #1 35%, EWE WA & 30% & ey ¥l uge vew dR gmd wE & s e fiew
Ans X'1.5:7
xX27:89
<38:9
vig:7
Question ID : 9489118654
Option 11D : 94891134613
Option 2 1D : 94891134615
Option 31D : 94891134616
Option 4 1D : 94891134614
Status : Answered
Chosen Option : 4
Q73 zfy a?+p2+c?+d> =1 A abed & IV F HAHAH A T gam?
Ans X116
< 2 64
, 1
v —
16
1
X4 —
64
Question ID : 9489118647
Option 11D : 94891134586
Option 2 ID : 94891134588
Option 3 1D : 94891134585
Option 4 1D : 94891134587
Status : Answered
Chosen Option : 3




Q.74 a=fw o 9¢ W #AE v FoaE @ W T @, SOGE T S S G § A A s

o wh gt S L e o B
e X 1. smsEmETE (Isogloss)
v 2 HTEEETY (Isobath)

X 3. EEgeE (Isohaline)
X 4 FEAER (Isobar)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116326
94891125302
94891125303
94891125304
94891125301
Answered

1

Q.75 =z 7 36,560,000 F ve w1 @@ 3T 5T 5 £7,80,000 F T T FW d=w w3 faw vfenw

T T 14
ans K1 15%
v'2 20%
X 2 25%
< 4 10%
Question ID : 9489118658
Option 11D : 94891134630
Option 2 ID : 94891134631
Option 31D : 94891134632
Option 4 ID : 94891134629
Status : Answered
Chosen Option: 2
Q.76 mrzww SwEs & 1991 F T T ‘=% 3T @ST (Black or White) % Fufe Sifth & swga wea
HRAT 8 ®9 @i A7 ar?
Ans «
iR
< 2 FUF
X 3. AATETH
< 4 Fuemen
Question ID : 9489116306
Option 11D : 94891125224
Option 2 ID : 94891125221
Option 3 1D : 94891125222
Option 4 1D : 94891125223
Status : Not Answered

Chosen Option :




Q.77 28 cm BT T 07 F FF W 22 om @ =9 S@X ARG RO H AW B & w9 A

LU S
W 2 45°
< 3 50°
< 4 40°
Question ID : 9489118671
Option 11D : 94891134684
Option 2 1D : 94891134682
Option 31D : 94891134683
Option 4 1D : 94891134681
Status : Answered
Chosen Option : 2
Q.78 v ga-gwer & FI0T F AT AR TA-ASTHA F BT F AT F HIIT AT FAT
2 2 Pl
Ans X 1.7 :8
K25:86
vi3i4:5
<46:7
Question ID : 9489118672
Option 11D : 94891134688
Option 2 ID : 94891134686
Option 3 1D : 94891134685
Option 4 1D : 94891134687
Status : Answered
Chosen Option: 3
Q79 G=fafEa & & Fi9 @ dRET TNF T (UNESCO) i fed edieT uet &1 g 7 anfaer 72
Ans "
1.
v @GITE%TJ
& 2. o =T
X 3. reTTanH AT
X 4 = #fex
Question ID : 9489116310
Option 11D : 94891125240
Option 2 1D : 94891125239
Option 3 ID : 94891125237
Option 4 1D : 94891125238
Status : Answered

Chosen Option :

1




Q.80 e A IR (Michael O'Dwyer) & 5@ TaaaaT ST o 7T &1L o

Ans ?(1 w

X 2 Iy TS

X3 g A
v 3 g
Question ID : 9489116319
Option 11D : 94891125274
Option 2 ID : 94891125275
Option 3 ID : 94891125273
Option 4 ID : 94891125276
Status : Answered
Chosen Option : 4
Q.81 fw arv fashedt & & 37 HeRT 1 =T &Y, S FEataiEa g@en & e et (7) & w0 9w I
TR B
JLKMONPRQS??
s X1LR S
v2UT
X3TU
X+UV
Question ID : 9489116083
Option 11D : 94891124329
Option 2 ID : 94891124331
Option 3 1D : 94891124330
Option 4 ID : 94891124332
Status : Answered
Chosen Option : 2
Q82 garer (eatly ARERIT) FW TS IEARVATER 3eAH F 9T AT §?
Ar X 1. TeRT TSET e
X2 :FW HAROT
X 3. AT TS 3T
v o ZEIETH RO
Question ID : 9489116325
Option 11D : 94891125300
Option 2 ID : 94891125299
Option 3 1D : 94891125298
Option 4 ID : 94891125297
Status : Not Answered

Chosen Option :




Q.83 21,200 Fr afr I 12% TfEF ot F1 T X 6 AT T TGS TS A Ffew, I T Fr 0T

IAfEs TRgRE HTUR TR Fr AT #
ans o 1. 373.08
< 2 372.08
<3 371.08
< 4 374.08
Question ID : 9489118660
Option 11D : 94891134638
Option 2 ID : 94891134639
Option 3 ID : 94891134640
Option 4 ID : 94891134637
Status : Answered
Chosen Option: 1
Q.84 faw =rv Reredl & F W HEA F WA F, S @ So # v REw (2) & T O 3 @
Ll
6, 24, 60, 120, 210, ?
Ans X' 1. 368
v 2 336
<3 274
< 4 402
Question ID : 9489116084
Option 11D : 94891124335
Option 2 ID : 94891124334
Option 3 1D : 94891124333
Option 4 ID : 94891124336
Status : Answered
Chosen Option : 2
Q.85 1784 §. F iftet g s # TUAeT Heth Y O S & WU-AY TRRTREE WETEd A6 dee
T TS TRAT AT oT| ST WEAITE HiA A7
Ans 2 :
#< 1. F¥g ™A (James Prinsep)
X 2 FAT T (George Turnour)
v 2 e Si=m (William Jones)
X 4 HelFast HiauH (Alexander Cunningham)
Question ID : 9489116320
Option 11D : 94891125278
Option 2 ID : 94891125279
Option 3 ID : 94891125277
Option 4 1D : 94891125280
Status : Answered

Chosen Option : 1




Q.86 fr afder @ eaaa AfET 3 Br o1v e &7 3eav §fFw e afee v 9fer & 5 Bwat &

5 ot (Students) ZIRT 9ToF fRT AT I Fr 2T

Name of Students

Subject Jeeva | Justin | Hetal | Kuber | Alia
English 76 88 34 72 90

Maths 82 85 78 64 60
Science 69 80 82 80 75
History 70 72 76 83 80

Geography | 86 90 | 85 s0 | 73

Bl ZaT B (Science) BT & 9roa T v Hiwa 3w wa FiET

Ans X 1. 745
<2718
v 772
< 4 804
Question ID : 9489116089
Option 11D : 94891124355
Option 2 ID : 94891124356
Option 3 1D : 94891124354
Option 4 1D : 94891124353
Status : Answered
Chosen Option: 3
Q.87 fre aferer &7 sregwa ffEw it e v w0 1 300w e B e o ader # 5 fawat &
5 ot (Students) gFT 9oa RRT T 3Rt H e B
‘Name of Students
Subject Jeeva | Justin | Hetal | Kuber | Alia
English T6 88 54 72 90
Maths 82 85 78 64 60
Science 69 80 82 80 75
History 70 72 76 83 80
Geography | 86 90 83 0 | 73
FE o F F9 © 57 2 Bvd # s=aaF 3% ag e 7
Ans
X 1. gaa (Hetal)
X 2 feram (Alia)
v 3 FATEeA (Justin)
# 4 FEr (Jeeva)
Question ID : 9489116090
Option 11D : 94891124359
Option 2 ID : 94891124360
Option 3 ID : 94891124358
Option 4 1D : 94891124357
Status : Answered
Chosen Option : 3




Q.88 fr afder & aaa AET 3 Br o1v e &7 3eav §fFw o afee o 9fer & 5 Bwat &

Ans

5 ot (Students) EFT Yo BRT T 3T HT e §

Name of Students

Subject Jeeva | Justin | Hetal | Kuber | Alia
English 76 88 54 72 90
Maths 82 85 78 64 60
Science 69 80 82 80 75
History 70 72 76 83 80
Geography 86 90 85 80 73

FieT W O Fo SoUaA Saud % AT # §A T WO &7

V1 FET (Jeeva)
X 2 FiEe (Justin)
X 3 T (Hetal)
X 4 T (Kuber)

Question ID : 9489116091
Option 11D : 94891124361
Option 2 ID : 94891124362
Option 31D : 94891124363
Option 4 1D : 94891124364
Status : Answered
Chosen Option: 1
Q.89 fawr aferes & sregas ST 3t e 1w e 1 seaw e e aifee ve ofter F 5 Rwat F
5 BT (Students) ZaRT 9T fRT T 3 Fr e
Name of Students
Subject Jeeva | Justin | Hetal | Kuber | Alia
English 76 88 54 72 90
Maths 82 85 78 64 60
Science 69 80 82 80 75
History 70 72 76 83 80
Geography | 86 20 85 80 73
g A 99 T W @ O F T Wedw # A e 82
Ans | 6?
2. 91
3. 82
4. 74
Note: For this question, discrepancy is found in question/answer. So, This question is
ignored for all candidates.
Question ID : 9489116092
Option 11D : 94891124365
Option 2 1D : 94891124368
Option 31D : 94891124367
Option 4 ID : 94891124366
Status : Not Answered
Chosen Option : --




Q.90 37 37 3M@ F TTT FL, I BT A0 ot F 7 F o9y F7 gofeam & T HEhg w71ar d

TTelTsT, Tel, shAe
3 o~

Ans X1 b
v2a
K3 c
Xad

Question ID : 9489116096
Option 11D : 94891124381
Option 2 ID : 94891124384
Option 31D : 94891124383
Option 4 ID : 94891124382
Status : Answered
Chosen Option : 2

QT R arv Fyat . R #¥ 3#R 7aw F & 78 gnomstt F @ & Fww F GRg 2
F:
afy 3 ot @ sl R e T € & 39 ol Tet # At R
RO
1. Faar faeh Tw, 3 R yeorT o= ¥
2. 518 BrF F e, T TR # vae e e e Rewr & fw s9geE g

i X1 Fae aror 2 fAafea
X2 aror 1 3k 2 @t & PR &
X 3 Faer aroT 1 BT g
V4o ar aror 1 3T T & 2 AT T

Question ID : 9489116082
Option 11D : 94891124326
Option 2 ID : 94891124327
Option 31D : 94891124325
Option 4 1D : 94891124328
Status : Answered
Chosen Option : 3




Q.92 Rr 7ir Fwedt #F ¥ 3T TTT T TIT F, I erararad Sot F weT BET (7) F T 9T 37 aar

gl
6; 11.:8,/9; 11, 7,"2,/8
ae X117
<214
<313
v 415
Question ID : 9489116087
Option 11D : 94891124347
Option 2 ID : 94891124348
Option 3 1D : 94891124345
Option 4 1D : 94891124346
Status : Answered
Chosen Option : 4
Q.93 g =afda A, B, C, D, E, F g7 G, Faieh, W31, SEr HE=ilY, ardiemesh, siaet, gehrel g g8at &
WAFTFIL (T T F e FR T ) FF off I caoFodl 7 @ gAF 71 &1 C 7% &
FTH FH FIAT 1A T ;T ST F T H FIH A4 F4aT g1 E ey I 3T 7Er 81 B
STEaT AT IETER A7 SieeT Am NI F T H FH A6 w21 F, IS AN F w9 & FH war
¥ D, sfoex ar dat w4 F
TrARET § O FiF 37 F T T FH T @@ aFa 27
ans X1 G
v A
<3B
X4D
Question ID : 9489116100
Option 11D : 94891124399
Option 2 ID : 94891124398
Option 3 ID : 94891124400
Option 4 1D : 94891124397
Status : Answered
Chosen Option : 1
Q.94 v RR=T gz wmor &, TEACHER &t TFCFLJX Rram Serm &1 387 %2 o1 # TABLE &t 50 TR
for@r STam?
Ans X1 TBCMF
# 2. UCEPJ
v 3 TBDOI
< 4 UBCMF
Question ID : 9489116078
Option 11D : 94891124309
Option 2 ID : 94891124312
Option 31D : 94891124311
Option 4 1D : 94891124310
Status : Answered
Chosen Option : 3




0% 37 R F TEEE F, A HEAGTET S ¥ AT TG F

E.V.H 5 K Q, N, M

Ans x M
< 2N
K3 K
viQ
Question ID : 9489116086
Option 11D : 94891124341
Option 2 ID : 94891124342
Option 31D : 94891124344
Option 4 1D : 94891124343
Status : Answered
Chosen Option : 4
Q.96 gigewr & T T Fa, ‘Fe F gED A F R B sFr AT e § e an a9 3 w0 FosmR
AN, 391 ACI-TAT 1 Swaldl Fae Ol T &1 Giar & &= ey 32
Ans X 1. g
VER
X3 far
X 4 s/
Question ID : 9489116075
Option 11D : 94891124300
Option 2 ID : 94891124297
Option 31D : 94891124299
Option 4 1D : 94891124298
Status : Answered
Chosen Option : 2
Q.97 s Bfewa gz smor #, HOUSE # ESUCH foram =am §1 38 e o F CLOCK # 5w wer formr
FTET?
Ans X1 KOCCL
v 2 KCOLC
< 3. CKLCO
< 4 KCLOC
Question ID : 9489116074
Option 11D : 94891124294
Option 2 ID : 94891124295
Option 3 1D : 94891124296
Option 4 1D : 94891124293
Status : Answered
Chosen Option : 2




Q98 afRr v waaf x '} AT T L X wmaT Uk T a T v Y S RmRRe s e ST o
TR T 7

s X1.12-4x2+5+4=25
X27x9+6-3+2=6

vw3i8+6+12x4-2=58

K48+2%x6+8-4=2
Question ID : 9489116085
Option 11D : 94891124340
Option 2 ID : 94891124338
Option 3 ID : 94891124337
Option 4 1D : 94891124339

Status : Answered
Chosen Option : 3
Q.99 =T oreg BT oir ¥, e @ O T YR ¥ Uw GRS £, 6T UF FEOT £ WHIS 9 & AaT
Eaie ]
FAIfed, F9gF, IEF, FAER 99
Al
"X gafea
3
Vv o THEE
a2

X 3 FAER 99

<4 ofer
Question ID : 9489116094
Option 11D : 94891124376
Option 2 ID : 94891124374
Option 3 1D : 94891124373
Option 4 1D : 94891124375

Status : Answered
Chosen Option : 2




Q.100 fow 1w weat i st @ caagEE @1 wuet F & R A A Fed A ge e w Y e &
TF AT AT T T B 93 @ @ ot 39T R R v Gt & @ #iF F Fuet w7 afee
T G T w27

S

Tl 9 Ffee
o Rfeear o &
[CEa

. g5 9 7 &

II. 1$ <Igr Fear & T
Il Fo feear g7 &

A X Fawr ey || 9o T B
V' 2 Fae TRy Il 9T AT g
X 3. Faer TsHY | qTeled LT ¢
X 4 ey | 3T 11l ST 9o =

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489116080
94891124318
94891124320
94891124317
94891124319
Answered

4
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